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Please make sure that the printed pages in this question paper are 15 in number

and it contains 34 questions.
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The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYI 3T F FAT fiG T F7 G U, HIT F FHF AT fra
Before beginning to answer a question, its Serial Number must be written.
o GUT-gRaH F &g 7 @i g T T 8ig)

Don'’t leave blank page/pages in your answer-book.
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FIe

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o GRS SyEr Ud To HT-YH GT HE9q [1@ U do & ffaRHT FIT-9H 9T AT G A 7
ford e dwloys gl & TR Y [l 9T I R T I
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U HE B G @7 7 {F 97 ghAkad &7 7 B w7 @ 7 @ 2yl @ gy sq
G 7 Fg o T@r @hEr 76 B amm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

qrE R
General Instructions :

(i) T g7 S &

All questions are compulsory.

(i) ZTFTIT 7 F7 34 g97 E T AR GUST  F, F G G A ae 7HE

This question paper consists of 34 questions in all which are divided into
Jour Sections : A, B, Cand D :

GE -9 57 @ A1 §16 7% G 16 T97 8 9% 737 1 % 77 81
Section - A : There are 16 questions from 1 to 16, each of 1 mark.
& - § 50 GV 7 17 § 22 7% 7 6 ¥97 8, JoH J97 2 oF & 8

Section - B : There are 6 questions from 17 to 22, each of 2 marks.
&% - 737 % 723 730 @ F7T 8 37 3, J9F 97 4 3F # 2

Section - C : There are 8 questions from 23 to 30, each of 4 marks.
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G- §:37 @ 731 §34 7% T7 4 $97 2 J9%F T 5 F H B

Section - D : There are 4 questions from 31 to 34, each of 5 marks.

(i) @Y - § 7 & 77 7 R fwey 73 77 21 FF @ w597 F g 2

Section - D contains two questions where internal choice have been
provided. You have to choose one of them.

@ - H

SECTION - A

1. Fefofag # @ -4 dem dRag 78F 2 ° 1
(a) 18 B) +16
(©) 125 D) 36

Which of the following is not a rational number ?

(A) V18 B) 16
€) | 135 D) ~/36
2. I 120 AT 225 H H.C.F. 158, @ S L. C. M. 8 : 1
(A) 1600 (B) 1800
(C) 2000 (D) 2200
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IfH. C. F. of 120 and 225 is 15, then their L. C. M. is:

(A) 1600 (B) 1800
(C) 2000 (D) 2200
3. fagell (-1,-) R 4, 2)F oA g2 : 1
(A) 32 B) 18
(C) 6 (D) /34
The distance between the points (-1, 1) and (4, 2) is :
(4) /32 B) 18
(€ 6 (D) 34

4. IR T TEEY BE # E O 304 3 oEa A B, o 3 B & dmd & o B
1
(A) 3 :2 (B) 3:4
(C) 9:16 (D) 16:9
If corresponding sides of two similar triangles are in the ratio 3 : 4, then ratio of
their areas are :

(A) 3 :2 B) 3:4
(C) 9:16 (D) 16:9
5. FV 0T FogEvE & A% 2 1
nr 9 r2e
) 180° B) 180°
(©) 2o (D) n‘rzﬁ
90° 360°
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Area of sector of the circle of angle 0 is :

nr o nr2e
A T80e B Tsoe
2 2
© e O o
6. 9% % farg P/ O 3% 9 Rt 90 W PA oI PB WR@T W& 80° 3 FW X P
&, @ LPOA IR 3 : 4
(A)  60° (B) 50°
() 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then ZPOA is equal to :

(A) 60° (B) 50°
(C) 70° (D) 80°

7. B 2.1 § A o1 F Mo B TS 6 B 1
(A) 80.3 (B) 191.5 T#r°
(C) 55.44 q# (D) 47.09 {H

Surface area of sphere of radius 2.1 cm is :

(A) 80.3 em” (B) 191.5 em?
(C) 55.44 cm? (D) 47.09 cm?

8. frdll gu & @@ ad ........... g/ fargatt X wftreBe & B 1
A tangent to a circle intersects it in .....ccocvues point(s).
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9. 6sec? A-6tanZ A % AN 8 : 1
(A) 6 (B) 1
(€] 9 (D) 7

The value of fisec2 A—fita.n2 A ls:

(A) 6 (B) 1
(€ 9 (D) 7
10. 50 4x2 -4x+1 D 9P & : 1
1 1 1
j. = .
Blase g Bl=g: =5
1 18y 1
(C) 3! 1 (D) 3' 5
The Zeroes of Polynomial 4x2 - 4x+1 are:
1 1 1
(A) 1, 2 (B) 5 o
1 Le. ]
Bl 1 | ey
(C) 3’ (D) 5’ o
11. Fr=ifafa ® 9-a1 qemr faam 8 7 1

(A) (x-1) (x+3)=(x—17) (x+5)
(B) (x+4)° =3x(x+1)

(C) (2x-1) (2x+ 1) = (x-2)2
(D) 4x?+5=(2x+7)

103/(Set : C)



(7) 103/(Set : C)

Which of the following is a quadratic equation ?
(A) (x=1) (x+3)=(x—7) (x+5)
(B) (x+4)° =3x(x+1)
(C) (2x-1) (2x+ 1) = (x-2)°
(D) 4x2+5=(2x+7)°
12. (% GHH0N B g x— 2y + 3 = 0 W 3x— 6y + 9 = O H B BT 1
(A) JfEEE O &
(B) @3 BT Al
(C) ouRfe a® &d
(D) A" 4§ Hig @I

Solution of a pair of linear equations x—2y+ 3 =0and 3x- 6y + 9 = 0 will be :
(A) Unique solution

(B) No solution

(C) Infinitely many solutions

(D) None of these

18, A. B3, 7,11, 1%..0... 1 1281 Ug B : 1
(A) 39 (B) 49
(C) o2 (D) 47
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The 12th term of the A. P. 3, 7, 11, 15, ..... is :
(A) 39 (B) 49
() 52 (D) 47

14. 7R B A. P. &1 @ ofX Hdl 98 FH 4 oK -8 B, O I Bedt W B ¢ 1
(A) -6 B) -2
(C) -8 (D) 14

If 3rd and 9th term of an A. P. are 4 and -8 respectively, then its 6th term is :

(A) -6 (B) -2
(C) -8 (D) 14
15. 3T & DE ||BC® EC % @1 o1 o) " 1
1.5 2 T
D E
3
s C
In figure DE || BC. Find the length of EC.
A
1-5%2 cm
s D E &
N o
3c
B C
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16. 39 fag & Fdais, o favgedt (4, —3) @ (8, 5) # e art YE@r@ve H RS w9 &

3:1% o 7 fawfad #xar &, 8 : 1
(4) (-3, 9) B) (4,-2)
(€) (3,7) D) (7, 3)

The coordinates of the point which divides the line segment joining the points
(4, -3) and (8, 5) in the ratio 3 : 1 internally are :

(A) (=3, 59) (B) (4,-2)
) (3,7) (D) (7,3)
s -1

SECTION - B

17. TOEQ % 7++/5 OF omfHg T 2 2

Show that 7 +v€ is an irrational number.

18. 52 GEit @ W FHR B T TH AN F TS K F T GO MBI A B qd T oH
TEIT aiaT 1 9T A i Siaehar sia sifed 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a red face card.
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19.

20.

21.

22.
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k@ g a9 B R e afiEeer x2 —kx+9=0 @ A SUEL AR 7 2

For what value of k the roots of the quadratic equation x2 -kx+9=0 are

equal ?

0% fag P i 3 G Bor 9 99 & $= @ 5 3 & g W B, 39 99 W wWsan #t
TEE S B 2

Find the length of the tangent from a point which is at a distance of 5 cm from

the centre of the circle of radius 3 cm.

U fEar 9g9e §a i Pras gras a0 qor OEET A 4 ST 1 2

Find the quadratic polynomial, the sum and product of whose zeroes are 4 and

1 respectively.

k% o 99 & fou fefofiaa s e & o9 &d Bl ? 2
(k—1)x+(k+ 1)y=3k-1
2xX @AY =i

For what value of k does the following pair of linear equations have infinite

number of solutions ?
(k=1)x+{k+ 1)y=3k =1

2xTOU=T

103/(Set : C)



Sl 103/(Set : C)
ave -4

SECTION -C

23. IR’ A, B3R CPBEe ABC % sia#ivr &, @ Rusy fF 4

24.

25.

103/(Set : C)

If A, Band C are interior angles of a triangle ABC, then show that :

; [B+C’] A
sin = €OoS —
2 2

10 &t Bowr ard U% g9 @ FiE Sl dm W TH GBIV q9NT 81 T EeIEs F A
I i) 4

A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the

area of the corresponding sector.

U% U H O 91 Bl oar 21 WiResar s e B s g 4
(i) WP AHRY HEAT 7,
(ii) TH fww gEm B

0 2



26.

27.
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A die is thrown once. Find the probability of getting :

(i) a prime number,

(i) an odd number.

w%%ﬁraﬁi,maﬂ%aﬁmﬁlmm%maﬁ% B S B, o9 BT H
8 wis f&@r wir 1 g fav s dim 4
A fraction becomes % when 1 is subtracted from the numerator and it becomes

% when 8 is added to its denominator. Find the fraction.

foeT faam @fietor & ol @1 Sl T Sy Al qa @ AR B, ot B o Sy ¢ 4
2x2-6x+3=0

Find the nature of roots of the following quadratic equation. If real root exist,

then solve it :

2x2 _6x+3=0

28. o Pl I B g@d 7 9 vy & 7 4

29.

How many three digit numbers are divisible by 7 ?

10 #t @t & Hid @ N W RHm W g W 8 # F FUE W fm @ fasd 0w
Tged B AR F AR @ W @ frew R @ o T Bk 4

A ladder 10 m long reaches a window 8 m above the ground. Find the distance

of the foot of the ladder from the base of the wall.
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30. P& AM T PG, AR [ A2, 3), B2, P 3K C(6, -3) €@ B 4

31.

Find the value of Pif the points A(2, 3), B(2, P) and C(6, -3) are collinear.

g -T

SECTION -D

o fodr B 3.5 Gt A % §if F omER @ 2, S IW B 9w o enfiid W
FHERNT B 39 AW @ g9 FOE 15.5 99 31 3 fadm @ g o e s
PifoTal 5

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same
radius. The total height of the toy is 15.5 cm. Find the total surface area of the
toy.

SUC
OR

Brear 4.2 G a9 & U Nid B NEArT B 6 O6 ard OF da9 & w9 § g S
2l A0 P HAE T BT

A metallic sphere of radius 4.2 cm is melted and recast into the shape of a
cylinder of radius 6 cm. Find the height of the cylinder.

32. freifafed arelt 35 TR @1 AweEar & (e #) ol 31 Aver A & S19 $iog ¢ 5

TraT X (% #) 45-55 55-65 65-75 75-85 85-95

TR P & 3 10 11 8 3
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literacy rate :

(14)
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The following table gives the literacy rate (in %) of 35 cities. Find the mean

Literacy rate (in %)

45-55 | 55-65

63-75

75-85

85-95

Number of cities

3 10

11

33. 7 Hlo 39 999 B WEX ¥ TF Baq oA 3 RRET F1 I=9F DT 60° B T S UG H

AT BT 45° Bl AT F FAE T B

From the top of a 7 m high building, the angle of elevation of the top of a cable

tower is 60° and the angle of depression of its foot is 45°. Determine the height

of the tower.

s Fifg -

Prove that :

103/(Set : C)

HeEr

OR

1+sinﬂ+ cos 8

cos 0 1+sinB

1+sinB cos 6
+

cos 0 1+sin6

=2sech

=2sechH
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34. 6 T BT 1 UF g9 @ieg 9 & ° 10 99 ¥ R @ AR @ g9 W s W @i
TET FIIG T I TSar Wi 5

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and measure their lengths.
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